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II.

SECTION- A

(First Four questions compulsory. 1 mark each) (4x1=4)

1=

State Rolle’s theorem.

2. What is the derivative of sinh'x.

3. Define homogeneous function.

4. Find the polar equation equivalent to the cartesian equation x=2.
SECTION - B

Answer any seven questions from among the questions 5 to 13. These

questions carry 2 marks each. (7x2=14)

5. Expand sinx by Maclaurin's theorem.

6
7 4
8

Find #" derivative of log(ax+b).

If y=cos'x Show that (1 — xz)yl ~xy, =0
State Euler's theorem on homogeneous functions. Verify it for

z=ax +2hxy + by’

P.T.O.
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9. Find "m1+smx—msx+log(1—x)
x40 xtan® x
Sl -7
10. Evaluate IEQM.
iy fanx
4 Varily gt s Wloaing fan ' :
. Verity tha 2y Dy or the following function % = xsiny+ ysinx .

12. Find the radius of curvature of x*+ y* =2 at (11}

13. Define evolute and involute of a curve.

SECTION - C

Answer any Four gquestions from among the questions 14 to19. These
qguestions carry 3 marks each. (4x3=12)

14. Ifx = a(cos 6 + fsin @) and y = a(sin @ —HsinF) find j—xi .

x#(1-3x)%
(2-3x)4(3-4x)" "

15. Differentiate vV =

16. Determineli_l::g(ccﬁsr]x’.

¢l ¢H oH

= £ PE - e o it s s 22 ()
17. f H=f(y—z,z—x, x—y) prove that &t+f‘.§v+5: !

18. Find the co -ordinates of the centre of curvature of xy:c" at (c.c).

19. Find the rectangular co-ordinates of the point with spherical
co-ordinates (4.74.7%).
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SECTION - D

IV. Answer any Two questions from among the questions 20 to 23. These

questions carry 5 marks each.

20.

21.
28,

23.

(2x5=10)
i A

2 X
Find the evolute of the ellipse— +952— =1.

Differentiate (x)™ +(sinx)™ "with respect to x.
Find the cylindrical and spherical co-ordinates of a point that has

rectangular co-ordinates (4,-4,4\/5 ] :

tanx —x

Find the limits a) lim——— (3)
w0 x—SInx
. logx
lim ] 2
b) IJ:EU Cot J‘ ( )




